B EEERICTHREAELRERE—E

BIRL Rt S®HIER SERIST SERAE
IST
BRIER 55260
ReEER 7TH20H £7-1321H
E2BEESTEL BT TR izﬂ X7 SED I, PR L OEY 9,300/ + F ¥4}
SRER 10827H
BeAeABR 128140 7213150
2RHE 108160
BIEBSIEL BFI¥ SEDEL, PHAEOR 10,9009 + F 4k
F1EER = BFILFH braestEs 118240 2[E RS 2 M+ F#et
CBTARZER 3
5 2 b ISR BT TR i = (3 SEDEIL, PR EOEY 5,600 + F £kl
SERA
2%% 4,180
. . . —_ . AE2%% 2,550
ICT7a74> Ty —RE BFILFEHR PHE SEH MR 2R
3% 2,040M
4% 1,530/
_ . 6H21H .
SHERITRE TR SR 2|5k 34E700
11/515H
6H28H
BRI TE BEFL¥ Exa 2)|B 345700
BT TE EF TR Ll AL =t #&700F
ERYIRE B FiE 23R 23 38 2|5k Z 785,300 74,200
HED M (Q—5—) OEEOEH IR 2 E3HE 2R SR 456 - 7H )5k 10,0009 BEEHE (R7I3/FUEME)
NBBEHR 7 L — o B A 23R SHE 8A2H~4H 2|5k 18,0009 BEEN (RTIZEHRT)
2 AR TERBMRE (PRHAROK) B RTR 2.3 108278 it 5,250
. %36 TR12~8H1H HE. CBT (¥ X b4 —3%EPCT
Bt SBE (ECORTE) BRI - = %z‘ - 7 7o TR 5,500
#37E 11815H~1285H DEER)
Mt AL
R TE SR 3 1R - HiHR6 5 @ ~8 B s, LB (R T 2 15,200/ (i B FE M 412 31)
(N TE@AEiE, HWiRE. ) \ %128 tA~28 LA DHFRCEHTFE) MR
13,200
Lk e IS R 5819H = 2,850
. . . %1\ : 6 820H
MR RARTE 3 R et 23 - i 14,600/
#£20 :1816H
T — 0 RIS QR ITR B ERIHE ML S 7B238~T7A25H 2|5k 10,000/
e b = \ . 2R 28~
REREEETE (F— 7 HARA 2F) ] 2-3 - s 13,7209
3ER 4~
EFRNRE 3| E2E - 2k 23R 2R 7B58 R741A318 2)lIEk 2,500/ ~3,500/
ERRERERE 3k E2H- 2% 2R 2 58-(108) 17 2|5k 5,000/ ~6,9009




